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KF X ILHET 7 Hh Z HX £ AR e
RESHETZTH 419—1—C | %8 659| R14.10.31
FRFESHETZTH 734—C &g 912| R14.10.31

RS TET 1137 3] 1,353| R17.10.31

L YEHT 818 &g 1,907 R12.10.31

L YzHT 822 E=3C 801| R12.10.31

L YEHT 589 &g 653| R12.10.31
BPE 7TF/KR 154 3] 750 R17.10.31
BHE TT/K 137—2 &g 221| R17.10.31
BPE TT/KR 137—1 3] 346/ R17.10.31
BHhS B 211 213 1,137| R17.10.31
BPE B 193 3] 760 R17.10.31
BHhS gEE 231—2 213 2,132| R17.10.31
BPE #HEe 230 3] 456 R17.10.31
BHhE gEE 235—1 213 987| R17.10.31
BHE HEe 236—5 £ 15| R17.10.31
BHhE gEE 236—1 =31 448 R17.10.31
BPS T 71 3] 915/ R17.10.31

i) B /70 156—1 =31 486 R17.10.31
BPS w11 R 52 3] 370 R17.10.31

i) B /70 39—1 =31 1,288 R17.10.31

% /A 196 21 1,110 R12.10.31

i} BE/H0 191-—1 21 1,328| R12.10.31

5 B /i 193—1 £ig 256| R12.10.31

b ) F /A 192—1 3] 1,150/ R12.10.31
HEHE—TH 1459 £l 542| R17.10.31
HERFHET—TH 1460—1 3] 730| R17.10.31
HEHE—TH 1473 31 1,294 R17.10.31
TEHRT AR 578 3] 284 R17.10.31




o

TR 4 KF X IFHET s #h & X% R "

REMIET T SEHT FBAR 567 £l 598 R17.10.31
FBiEH T AT AR 640 £ 922| R17.10.31
REMET T AT FEAR 638 £l 479 R17.10.31
R T AT BEAR 582 b 1,788| R17.10.31
FEET BFIR fi 1100—6 E3C 63| R12.10.31
R BEE & 1116—4 £ 76| R12.10.31
FEET BFR fi 1116—7 E3C 91| R12.10.31
CiEAh BEFIR fi] 1116—6 E3C1 60| R12.10.31
RB™ BEIF & 1100—5 2 11| R12.10.31
R BFE fi] 1116—1 E=3C1 884| R12.10.31
RBE™ BEIF & 1116—5 £l 76| R12.10.31
R RYEHAT 312—1 £ 4,769| R12.10.31
RBE™ T #H 254—1 £l 1,035 R17.10.31
R FET #H 255—1 e 684| R17.10.31
RBE™ T #H 210—1 £l 966| R17.10.31
R R HT #H 253—1 E3C1 1,051 R17.10.31
RB™ SEET 53 52—1 £ 1,055 R17.10.31
R % 2 T 4467 Epc 1,809 R12.10.31
FEETH ITE:) 2992 EXC) 1,226/ R12.10.31
R ITES:)) 2819 E3C1 940 R12.10.31
R ™ E=E i) 127 3] 1,444| R12.10.31
FEET =R 565—1 3] 1,837 R12.10.31
FRERH B4 869 EXC) 3,090 R12.10.31
REMET F/MRAET 1807—D £l 2,549 R17.10.31
R H/IMRFHT 1690—1—D| =g 197| R17.10.31
FEET BR/MRFFHT 1690—2—D| £ 2,741 R17.10.31
R H/IMRFHT 1656—1—D| &g 898| R17.10.31
FEET BR/MRFFHT 1665—D 3] 1,669 R17.10.31
CiEAh BR/MRFFHT 1656—2—D| £ 10| R17.10.31




o

TR 4 KF X IFHET F #h & X% R "

FEET BR/MRFFHT 1685—D 3] 861| R17.10.31
CiEAh BR/MRFFHT 1643—2—D| £ 14| R17.10.31
FEET BR/MRFFHT 1643—1—D| £ 1,632 R17.10.31
FeuEm | EER—TH 1605—2 b 726| R17.10.31
FETh | EXEE—TH 1608 3] 677| R17.10.31
REWET | AMHET=TH 2677 E3c1 2,183 R17.10.31
FEET | AHHE=TH 2676 E3c] 539| R17.10.31
FEBH | EEE=TH 1671—1 E3C1 912| R17.10.31
FEETH BR/MRTTHT 1679 0 1,022| R12.10.31
FEIET B4 &HH 915 Epc 727| R17.10.31
FeET | BHHE=TH 1917—4 2 1,450| R12.10.31
FEIET RYEHAT 470—1 e 5464 R12.10.31
FEETH EERT o 517—2 0 997| R17.10.31
FEIET BERT BT 646 e 1,867 R17.10.31
RBE™ BERL BT 645—1 2 1,828 R17.10.31
FEIET BHERL BT 627—1 Epc 1,969 R17.10.31
RB™ BERL i 605—5 3] 961| R17.10.31
R BFEEA 30—18 E3C1 786/ R13.10.31
RB™ SEHT 53 95—1 3] 960/ R17.10.31
R BEFEEA E=2) 3976—1 E3C1 1,161 R12.10.31
R ™ =F0ET 1499 3] 1,992| R17.10.31
FEET RS SLET 4026—1 3] 920 R12.10.31
FRERH RS TET 4026—2 E3c1 1,460 R12.10.31
RB™ A TET 3846 EpC 2,161| R12.10.31
FRERH B4 716—2 EXC) 1,377 R17.10.31
FEET =R 716—1 3] 560/ R17.10.31
R AT T 3844 3] 2,875 R12.10.31
FEET Fe ST 707 3] 763| R12.10.31
FREIET L AEARAET 649—2 e 1,671| R12.10.31




o

TR 4 KF X IFHET s #h & X% R "

FEET RS LET 3837 3] 1,379 R12.10.31
FREIET e ST 644—1 ] 2,976| R12.10.31
FEET RS THET 4193—1 E3c] 1,438 R12.10.31
FBIET L AEARAET 650—1 b 3,011| R12.10.31
FEET Fée SHT 410—1 3] 2,740| R12.10.31
FBIET FE SET 775—1 ] 2,154| R14.10.31
R ™ FE ST 70 £l 1,349 R14.10.31
FBIET = FNAT 2372 ] 2,487| R17.10.31
FEETH e SHT 778-1 0 2,758 R12.10.31
FEIET & ST 764—1 Epc 226| R12.10.31
FEETH e SHT 764—2 0 360| R12.10.31
FEIET FE S HT 771-1 e 1,845 R12.10.31
FEETH e SHT 772-1 0 3,838| R12.10.31
FEIET BHF5A Rt 2252—1 e 2,660| R17.10.31
RBE™ EERHA AEH 382—1 2 4,285 R12.10.31
R BETHRE aix 2126—1 E3C1 746/ R12.10.31
RB™ BARS WEAAR | 981—1 3] 695| R12.10.31
FEET BARS MeAAR | 982—1 Epc 946| R12.10.31
RB™ BEH4A KA 1040—1 3] 707| R12.10.31
R % L3R4 KAR 1040—2 E3C1 413| R12.10.31
R ™ EEHA R 966 3] 1,884| R12.10.31
RB™ R4 ER 411—1 EpC 606| R12.10.31
R BTH4 HEH 560 ] 1,638| R12.10.31
RB™ B4 =% 1587 EpC 1,827 R12.10.31
R EEHA E#A | 1350—24 | 2 132| R12.10.31
FEET B EHB EMa | 1350—20 | 28 181| R12.10.31
R EEHA E#A | 1350—33 | 2 175 R12.10.31
FEET B EHB E#Ma | 1856—10 | 28 661/ R12.10.31
FREIET B EMA | 1850—32 | £ 132| R12.10.31




o

TR 4 KF X IFHET s #h & X% R "

FEET B EHB RE 1001—6 3] 1,090 R12.10.31
CiEAh HERHB FR 585—1 E3c1 941| R12.10.31
REMET B4 =% 1586 £l 2,126| R12.10.31
R HEHA KAR 1080 E3C1 1,051 R12.10.31
REMET B4 HEET 1149—A 21 | 1352005%5736| R12.10.31
R B = 1543 —1 ] 554| R12.10.31
FEET EEHA =% 1543—2 E3c] 2,400| R12.10.31
R B AEH 343—1 ] 1,130| R12.10.31
FEETH HmEHB KALR 1072—1 0 525| R12.10.31
R B EH4A KABR | 1072—2 Epc 525 R12.10.31
FEETH BETHRE FrE 2028—1 E3c] 632| R12.10.31
R BTFHRL Has 2031 e 674| R12.10.31
RBE™ BTFHRt Hag 2029 2 638| R12.10.31
R BTFHRL Has 2030 e 644| R12.10.31
RBE™ BERHH il 85—1 2 1,435 R12.10.31
R HEHB EMn | 1350—35 | £ 343| R12.10.31
BT kR EMA | 1350—34 | £ 274| R12.10.31
R HEHB EMa | 1350—21 E3C1 370/ R12.10.31
FEETH BETHRE FrE 2096—1 E3C1 957| R12.10.31
R BETHRE HrE 2095—1 E3C1 957| R12.10.31
FEET BHEEA ihEn 312—1 E3C1 942 R12.10.31
REMET BFE5A HrithE 311—1 EpC 943| R12.10.31
R BARS /R 346—1 ] 937| R12.10.31
REMET FhET FIH 440—1 EpC 867| R13.10.31
R T FIH 441—1 3] 767| R13.10.31
RB™ Fie o7 BT 779 EpC 2,954 R17.10.31
R i@ o BT 673 3] 2,963| R17.10.31
FEET Fiei4e7 BT 674 3] 2,950| R17.10.31
FEIET Tk BT 1227 —1 21 1,520 R12.10.31




KFRILHET & X4 () _
T AT 502—2 £ig 2,302| R12.10.31
T ik T 625—1 3] 2,688 R12.10.31
T T 464 £ig 1,420 R12.10.31
T ik T 1138 3] 719| R12.10.31
T T 1139 £ig 560| R12.10.31
T AT 1140—1 21 1,285 R12.10.31
T T 625—2 £ig 2,622| R12.10.31
T ik T 767—2 3] 769| R12.10.31
T AT 1187 E3C) 502| R12.10.31
Tk T 819 3] 1,440 R12.10.31
T AT 767—1 E3C) 1,092 R12.10.31
T AT 1171—1 21 617| R12.10.31
T AT 1170 E3C) 1,274| R12.10.31
T AT 1169 e 1,300{ R12.10.31
T AT 1275 E3C) 916/ R12.10.31
T AT 1236—1 e 795| R12.10.31
T b ET 14 =31 1,361 R12.10.31
Tk ET 490 3] 993| R12.10.31
T b ET 1153 =31 1,368 R12.10.31
T AT 1289 e 1,340 R12.10.31
T AT 1229 21 379 R12.10.31
Tk ET 1264 21 1,220 R12.10.31
b ET 1290 3] 1,479 R12.10.31
T AT 495—1 £l 1,865 R12.10.31
T AT 1216 21 2,493| R12.10.31
T AT 1265—1 £l 375 R12.10.31
b ET 1265—2 3] 1,378| R12.10.31
T AT 624 £ig 2,435 R12.10.31
T AT 1288 21 2,133| R12.10.31




o

TR 4 KF X IFHET s #h & X% R "

FEET T B SFHT XH 311—1 3] 1,107| R17.10.31
FBiEH KIEFFHT REEF 392—1 ] 366| R17.10.31
FEET KIESFHT REEF 393—1 E3c] 903| R17.10.31
R TEFE X H 323—1 b 1,453| R17.10.31
REMET TIESFE X H 309—1 £l 1,163 R17.10.31
R RiGHET A4 79—1 ] 874| R17.10.31
FEET T B SFHT XH 310—1 E3c] 982| R17.10.31
R TEFE X H 313—1 ] 737| R17.10.31
RB™ B XH 312—1 2 891| R17.10.31
R ey 2964 E=3C1 1,878 R17.10.31
FEETH 3t F AHET 1148—1 0 1,302| R17.10.31
R ey 2962 E=3c1 867| R17.10.31
FEETH TE:) 2963 0 1,755/ R17.10.31
R ey 2961 E3C1 754| R17.10.31
RBE™ T #H 240—1 2 820/ R17.10.31
Rt REZ =0 8 Epc 1,933 R17.10.31
R REZE=H 162—1 EXC) 504| R17.10.31
R REZ =0 175 Epc 2,327| R17.10.31
RB™ A 53 3] 2,729| R17.10.31
R R EZ=HT 1351 E3C1 1,299| R17.10.31
FEET R EZ=H 1263—1 E3C1 3,079| R17.10.31
FEET REZ=HT 1253 3] 1,485 R17.10.31
R REZ =0 1252—1 ] 1,588| R17.10.31
FEET REZ=HT 1115—1 3] 1,958/ R17.10.31
FRERH 75 £z = HT 180—2 E3c1 1,388/ R17.10.31
FEET REZ=HT 1280—1 3] 3,053| R17.10.31
R il =3 27-1 3] 1,939| R17.10.31
FEET 75t 2 = HT 156—3 3] 467| R17.10.31
FEIET 75 bz =T 155 EXC 2,088| R17.10.31




o

TR 4 KF X IFHET s #h & X% R "

REMIET il =3 7—2 £l 665 R17.10.31
FBiEH il =3 91—1 ] 2,999| R17.10.31
REMET il =3 7—1 £l 643| R17.10.31
R REZ =0 5 b 1,244| R17.10.31
FEET R EZ=H 1204—2 3] 1,012 R17.10.31
R il =¥ 175 ] 2,655 R17.10.31
REMIET il =3 106 £l 2,677| R17.10.31
R il =3 160—1 ] 736| R17.10.31
RB™ icl =S 27-2 2 1,042| R17.10.31
R il =3 162 Epc 2,779| R17.10.31
RBE™ icl =S 107—2 2 1,851| R17.10.31
R il =3 172—1 e 1,708/ R17.10.31
FEETH REZE=H 1104—2 0 118 R17.10.31
R REZ =0 1104—1 e 2,900| R17.10.31
RBE™ REZ=H 1274 2 3,017| R17.10.31
R R EZ=HT 1273—1 E3C1 2,120 R17.10.31
R REZE=H 1165—1 EXC) 1,426/ R17.10.31
R il =3 44—2 Epc 493| R17.10.31
RB™ REZ=H 1167 —1 3] 1,559| R17.10.31
R R EZ=HT 1194—3 E3C1 501| R17.10.31
R ™ REZ=H 1106 3] 2,698| R17.10.31
FEET REZ=HT 1195 3] 2,905 R17.10.31
R il =3 174—3 ] 764| R17.10.31
REMET il =3 119—1 EpC 1,108/ R17.10.31
R il =3 25 3] 2,951| R17.10.31
REMET il =3 152—1 EpC 1,917 R17.10.31
R il =3 120 3] 657| R17.10.31
FEET R bz =HT 1164 3] 2,520| R17.10.31
FEUET il =3 44—3 e 825| R17.10.31




o

TR 4 KF X IFHET s #h & X% R "

FEET R bz =HT 1194—2 3] 888| R17.10.31
CiEAh R bz =HT 1103 E3c1 3,014/ R17.10.31
FEET =10 225 E3c] 363| R17.10.31
R BRI 3/ K < T ic]=: 46—1 b 2,387| R17.10.31
FEET FH T 342—1 3] 314 R17.10.31
R L YRET 669—3 E3c1 2,142 R17.10.31
R ™ =4=1:) 224 £l 1,146/ R17.10.31
R BRI 3/ K <5 T ic]=: 65—2 ] 1,407| R17.10.31
RB™ BRI 3K <5 T ids 181—1 2 1,991| R17.10.31
FEIET BRI 3/ K <5 T Ha 203—1 Epc 671| R17.10.31
RBE™ BRI 3K <5 T ids 201—1 2 576| R17.10.31
FEIET il =3 39—2 e 2,038| R17.10.31
RBE™ REZ=H 1194—1 2 1,529| R17.10.31
FEIET REZ =0 1193 e 3,006| R17.10.31
RBE™ icl =S 17—2 2 1,989 R17.10.31
FEIET il =3 46—1 Epc 1,469 R17.10.31
R REZE=H 1197 —1 EXC) 2,020 R17.10.31
R RS ITET R i 4202 E3C1 1,258/ R17.10.31
FEETH IRSIIET 4242—1 EXC) 1,369| R17.10.31
FEIET & ST 65—1 Epc 1,491 R17.10.31
FEET RS STRT 3850 E3C1 1,732| R17.10.31
FEET RS SLET 3854 3] 726/ R17.10.31
FRERH RS TET 3866 E3c1 1,667 R12.10.31
FEET RHET 2334—D 3] 1,305 R18.6.30
FRERH BRHET 2111-D E3c1 2,882 R18.6.30
FEET 1IN SRET 2064—D 3] 2,439| R18.6.30
BT | FESHET—TH 497—1—-D | =g 1,755| R14.10.31
FEET BR/MRFFHT 3151—D 3] 2,033| R16.10.31
R BR/MRFFHT 1741—D E3C1 1,819| R16.10.31




o

TR 4 KF X IFHET s #h & X% R "

FEET /N SRET 835—1—D | =& 904| R18.6.30
FBiEH BRI 3/ K < T ic]=: 55—1 ] 1,327| R12.10.31
FEET REZ=H 808 E3c] 3,473| R12.10.31
FEET | FESHETZTH 419—1—-D | =2 659| R14.10.31
FET | FESHETZTH 734—D 3] 912| R14.10.31
FE BT /N SRET 426 E3C 3,088/ R17.10.31
FEET /N SRET 561—3 E3c] 2,693| R17.10.31
R /N SRET 463 ] 3,359| R17.10.31
RB™ /N SRET 457 2 2,849| R17.10.31
FEIET /1N SRET 488 Epc 2,536| R17.10.31
RBE™ /N SRET 547—1 2 4,265 R17.10.31
FEIET /1N SRET 2194 e 1,384/ R17.10.31
FEETH /N SRHET 2054—D E3c] 1,434 R18.6.30
R BR/MRFFHT 1713—D E3C1 3,084| R13.6.30
FEETH BR/MRTTHT 1689—1—D| =i 1,404| R13.6.30
R T FHT 1638—D E3C1 1,143| R13.6.30
RB™ /MR ET 1673—D 3] 2,657| R13.6.30
FE BT BR/MRFFHT 1671—D £ig 584| R13.6.30
RB™ /MR ET 1645—1—D| =g 3,757| R13.6.30
R BR/MRFFHT 1646—1—D| £ 2,362 R13.6.30
FEET BR/MRFHET 1663—D E3C1 2,759 R13.6.30
FEET BR/MRFFHT 1883—D 3] 1,644 R13.6.30
FRERH BR/MRTFHT 1881—D E3c1 1,608/ R13.6.30
FEET BR/MRFFHT 1882—D 3] 1,678 R13.6.30
FEET R/MRFAHET 1884—AD | £ | 1373M5%963| R13.6.30
FEET BR/MRFFHT 1707—1—D| £ 201| R13.6.30
CiEALhT BR/MRTFHT 1708—1—D| £ 1,184| R13.6.30
FEET BR/MRFHET 3270 3] 1,574| R17.10.31
FEUET /N SRET 486 e 1,586| R17.10.31




o

TR 4 KF X IFHET F #h & X% R "

FEET BRHET 2115—D 3] 2,525 R18.6.30
FREIET AT 2379 ] 2,170 R17.10.31
FEET /ISR T 2210 E3C 2,503| R17.10.31
FE BT BRHET 2270—D E3C1 4,083 R18.6.30
FEET BRHET 2225 E3C 1,595 R17.10.31
FE BT BRHET 2116—D E3c1 1,361 R18.6.30
FEET /ISR T 2057—D E3c] 3,675/ R18.6.30
R /N SRET 2042—D E3C1 1,976 R18.6.30
FEETH /N SR T 2044—1—-D| = 2,366| R18.6.30
R /N SRET 2043—-D E=3C1 1,512 R18.6.30
FEETH BR/MRTTHT 1655—D 0 1,254/ R13.6.30
R T FHT 1529—1—D| £ 727| R13.6.30
FEETH FHHT 1530—1—D| £ 3,042 R13.6.30
R T HHT 1528—1—D| £ 354| R13.6.30
FEETH BRHET 2335—D £y 2,351| R18.6.30
R /ISR ET 2106—D E3C1 2,655 R18.6.30
R BR/MRTFHT 1642—D EXC) 1,787 R13.6.30
FE BT BRHET 2121—-D E3C1 2,316| R18.6.30
FEETH BRHET 2122—D EXC) 855| R18.6.30
R BRHET 2164—D E3C1 3,305 R18.6.30
R ™ /1N SRET 464 3] 1,758| R17.10.31
FEET RHET 2110—1—D| £ 3,058/ R18.6.30
CiEALhT BRHET 2165—D E3c1 2,582 R18.6.30
R T HHT 1621—D 3] 2,756/ R13.6.30
FRERH ST 1620—D E3c1 398| R13.6.30
FEET RHET 2333—-D 3] 2,259| R18.6.30
FRERH BRHET 2435—D E3c1 2,032| R18.6.30
FEET BRHET 2434 E3C 1,324| R17.10.31
CiEAh BERT ;A 606—3 E=2c 480 R17.10.31




KFXILHET ¥ & X% () e
BERL 3 605—2 £ 942| R17.10.31
YETET 416—1 Epc 1,367| R12.10.31
Y& THT 416—2 £ 1,291| R12.10.31
YETET 388 £ 1,266| R12.10.31
Y& THT 415 £ 1,366| R12.10.31
EEHA #HET  |1303—3—A| £ 7350055600 R12.10.31
- P4 #RET 1320—1 £ 1,058 R12.10.31
Fiter BT 871—2 £ 851| R17.10.31
it 865—1 E$C 743| R17.10.31
ETHRL Az 2112—1 =] 940| R12.10.31
WRHH i 24—1 301 890| R13.2.28
BRHH g 75 E3c 700 R13.2.28
BRHH g 22—1 2 1,520| R13.2.28
BRHH g 23—1 E3c 1,631| R13.2.28
B LEHE =H 542 2 3,040 R13.2.28
R e 87 148—1 £ 894| R13.2.28
BREHH A 147—1 &g 607| R13.2.28
R+ —Hix 163—1 £ig 884| R13.2.28




